Chapter 1. Rational Numbers

Question 1

Name the property under multiplication used in each of the following:

[3:]_?? ®]= IX_?? =§[The role of 1)

-21_-3_-3_-21

(ij)EXT = TXE[Using property of commutativityj
[iz’i)_—ﬂxé = 1| multipli cativeinverse of ) is 22

25 17 25 =17
Question 2

Multiply %1 by the reciprocal of é.

~1|

1
M

1
63

=i><63=36
=



Question 3

Write five rational numbers greater than - 5 with common denominators.

_ =5%5 _ =25
1x5 5
-5is same as ?

Consider a rational number between ?&1
-25 1 -25+5 20
Whichis 5 "1 _75  _"5 _-2

2 2 210
To make denominator as 5 divide both the numerator & denominator by 2.

~we get % Is a rational number between ?&1

e, 2 ¢ (1)
53

Between —2> 5 1
5 5
l.e., between-5&-2we have-4
-4 -4x5 =20
Tt
1 1x5 5
From (1) & (2)
25 ~20  -10
5 5 5
L7258, 24 -3 -20 -10
5 5 5 5 5
- Five rational numbers that are greater than - 5 are
24 —23 —20 -10 . 1

<1

<1

575757 5 5



Question 4

Write an equivalent rational number for each of the following rational numbers.
Fill in the blanks shown below with the corresponding letter found below each
answer. What you will find is the name of a famous author of children’'s books who
was born almost a hundred years ago.

N B ¥ L E
3.7 4_7 3_7 1_7 6_21
8 16 20 10 6 12 3 6 8 24
I T D o N
5_% 7_7 8_4 1_4 8 _32
10 20 8 16 10 7 4 7 36 7

12 16 16 162

8 4 32

— W=

36 4 144
ENIDB L _¥Y T _O_N
18 6 104 7 2 & 14 4 36




Question 5

Write four rational numbers between % and %

The two numbers are % and % i

Make the denominators same for the given rational number
2.2 133

1
32 6 23 6

1 1 2+3
Themeanof —amd- =% 5 _35
’ 2 2 12
B2
6 12 6
2 ] 2+5
Themeanof —and = = 5 13 _24+5_29%
5 12 2 24 24
5 3
5 3 ~+Z
The meanof —and= =13 g _5+6 _11
12 6 k] Y| a

Question 6

What must be added to 5 to get %?

Let the number to be added = y.

Question 6

What must be added to _EB to get %?

Let the number to be added = y.

JE T
) 16
NEERE:
16 B
_5+6 11
16 16
The number to be added =%



Question 7

What must be subtracted from _?2 to get %?

Let the number to be subtracted = y.

B
15
The number to be subtracted is %

Question 8

Write a rational number equivalent to %1 with

(i) numerator 20
(i) denominator 28

45 20
W=
()2*35=5
[jj)ixi:E
774 3



Question 9

Write the following numbers in descending order: 1 2 7 10 =5 -2

Find the LCM of 3,6,9,27,12 and 3.

3|3, 6, 9 27, 12, 3

2|1, 2, 308 41

2|1,2,3, 8. 2,1

301,1,3, 9% 1,1

1,1, 1,3 1,1

LCOCM =Exaxdxaxi3
=0 xd =3
=36x3
= 108

Since LCM is 108, equivalent fraction with denominators 108 is found out for all

the above fractions.
1 36 36
=
3036 108
5 18 90
=
& 18 108
7 12 &4
— =
9 12 108
0 4 40
- M =
27 4 108
=5 9 45
- M=
12 9 108
-2 36 -T2
N

336 108

T2 A5 36 A0 @ %0
108 108 308 108 108 108
~Descending order is
22l T

3 12 3 27 9 6



Question 10

Compare the following pairs of rational numbers. (z’)% and ;

o 3
[1)— and —
5 4
L. CM of thedenominator 15 20
42 2.4 B
= =
50504 20
2 3.5 15
= W =
4 4 5 20
2,3
Si=4=
504
Question 11
Find the missing entries in the following table:
Fraction in Numerator Denominator Sign of the rational
Standard number
form
1 —3x3 24 -
| 8x3
5 b 84 Positive
7
3.___ -5 -8
" —21x -2 -142 Negative
Tlx-2
Fraction in Numerator Denominator Sign of the rational number
Standard form
-3x%3 24 .
1. -9 gat
%3 -9 negative
5 "
2 © 84 o8 Positive
7
3 2 -5 -8 Positive
-8
—2lx-2 -142 Negative
4. 9
T1x-2 42




Question 12

State whether each of the following is true or false. Correct the statements which
are false

1. 250
2

2.1F L >1, then 1-lis positive
273 2 3

1. _—BEU. Falze
3

Negative numbers are always lesser than 0.

2.1F Ly 1, then 1-Lis positive - True
2 3 2 3

Question 13

Represent the following humbers on the number line [i)% [ii)g

Question 14

Represent %% 0 on the number line
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Question 15

Represent 4 rational numbers between 3&1.

We find the mean of the given rational number.

3
. 1+2
Meanls_4=4+3xl_=lezz
2 4 2 4 2 B
;E<E<1
4 8
Mow find another rational number between%&g
For this again we find the mean of 3&3
3.1 647
Meanis 4 8-_8 13,113
2 28 2 16
1
,-E<E<Z<1
4 16 8§

Mow find the Mean of %&1

_7+8 15 15
B Bx2 16

We have [%+1]+2

Thus we get
3BT B g
4 16 8 16

13

Mow find the mean of 2&16

12+13

We have, [2+12]:2- 18 22, 1.2
4 16

2 16 2 32
1
325,137 18

=< — <1
4 32 16 8 16

Thus we get



Question 16

A Dutch mathematician and engineer first wrote fractional numbers in the form we
now use. To find his name, match each rational number or mixed number with its
equivalent in the simplest form. Then write the corresponding letter in the space

provided.
L6 L1410 # 42 32 16 o145 44 78 B4
O W5 @g @5 Mg (g g 3 @y @g @
T S | o S M V N N I E
2 E B EE E E 2 4 21 4l
3 5 5 6 50 3 3 5 25 4 3
® @ @) & ) ) 4w M @ & =)
523 eea 123 4
100 2 50 60 4 15 3 35 ( )44;4=11=32
2.7 .71 52 2 162 8 3 Y2733 73
56 2 28 7 4 °20 2 10 2 5 3 (B2 4
., 10 .2 5 216 4 4 2 2 10 2 5 5
(i) —+=== (vii] —+—=—+===
16 2 8 24 4 6 2 3 (njﬁ+i= 21
12 2 6 6 435 7435 145 3
:% f"]ﬂ .Jr:]% ] . f“:';i '\-.1];; _'na:ll—?i :wr:]sl;fl :—ﬂ:—; fJ.:I% n'}%
T S [ 0 S M \ N M | E
O I 5. Y R B 32 4 21T .l
3 5 50 g 3 5 25 4 3
6 14 10 34 [, .48 32 16 14 a4 78 84
QST ~';'i)_§§; _gr_n_)”& [wzlz {v)‘ﬁfy ,_(3){2_0 | Cri)zg | O 4_3_5(5'_1;_)__1_2____(:) 10 %) 150
T e I S
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1 | e el Y 2 e |
T+ S¢ | I« 0 [*~5 TaM Ve | e N-fel [TaE
C 223 2 2] 3 32 4 I I e
3 5 50 3 3 5 25 4 3
S I M ON S T EV I N

The name of the Dutch Mathematician is SIMON STEVIN



